





* ARRAY- PROTOTYPE - SOME

e

The “some’ method tests whether
any element passes the test
implememed oy e given funchon.



let donuts = [ glazed’, ‘glmd'.
*choclate’, ‘strawberry'];

let atleastOneChocoDonut
= donuts. some ( donut =
don ===‘choc.ola'l'e.'),'
//+rve






FALSE

The ‘every’ method tests whether
all e\erreni's PASS the test
T P\ew ented oy e gwven funchon.



let donuts = [ glazed’, ‘glmd'.
*choclate’, ‘strawberry'];

let areAllDonvtsChocolate
= donuts.every (donut =
donvt ===‘c.hor.ola+e.') 5
// false



